Honeywell

UMC 800
Type 4X Panel Mounting Kit 51500452
Installation Instruction

Document Number
Form: 51-52-33-111
Effective: 6-1-00
Supersedes. none

Summary

Use thiskit to make your UM CB800 panel-mounted Operator Interface a Type 4X enclosure. The enclosureis
hinged and has 2 removable plastic screws (1/4 turn) for access. Y ou can install the enclosure with the hinge
at the top or bottom depending on your preference.

Kit Contents
This kit contains the following parts.
»  See-through polycarbonate enclosure (1)
e Yaturn winged head cover screws for opening/closing enclosure (2)
e M6 x 35 mm dotted pan head screw for attaching enclosure (4)
e Pane mount brackets for mounting Operator Interface to panel (2)
* M6 x 10 mm hex cap screw for attaching brackets to Operator Interface (2)
«  Bushings between enclosure and panel (4)
M6 externa star lockwashers (6 total: 4 for enclosure, 2 for brackets)
e M6 flat washers (6 total: 4 for enclosure, 2 for brackets)

51-52-33-111 Page 1 of 4



Kit Instruction, continued

Installation Procedure

Follow the procedure in Table 1 to install the enclosure.

Table 1 — Enclosure Installation

Step

Action

See Figure 1. Using the outer dimensions of the enclosure outline, check that your panel can
accommodate the enclosure. Check for clearance from adjacent panel mounted instruments.

Check for clearance to open the enclosure door. The hinge can be at the top or bottom depending on
your preference. To open the enclosure door 90 degrees, you need 1%2" (38mm) additional clearance
measured perpendicularly from the hinge side of the enclosure. To open the door 180 degrees, you
need 7 %" (197mm) additional clearance.

If you already have an Operator Interface (Ol) installed, disconnect power and wiring and remove the
Ol from the panel. This is needed to make proper measurements for step 4. Discard the existing
bracket and mounting hardware.

See Figure 1. If you do not have an Operator Interface (Ol) installed, measure, mark, and cut a hole
for the OI.

Measure, mark, and drill 4 holes according to Figure 1. These holes accommodate the 4 bolts of the
enclosure.

Insert the Ol into the panel cutout.

From the rear attach the panel brackets to top and bottom of Ol using flat washer, star washer, and
hex bolt. Hand tighten. See Figure 2.

Orient the enclosure with hinge at bottom or top depending on your preference. Install bushings on
the enclosure bolts between enclosure and panel. Insert the 4 bolts through the 4 panel holes and
through the 4 holes of panel brackets.

Attach flat washer, star washer, and hex nut on each of the 4 bolts. Check that enclosure is snug
against front of panel with no gaps. Tighten to 1 ft.-Ib. (1.4 N-m).

Press Ol snugly against front of panel. Tighten 2 hex bolts to secure panel brackets (top and bottom).

10

Attach power and wiring to OIl. Refer to Ol user manual for details.

Page 2 of 4

51-52-33-111



Kit Instruction, continued

Drill 4 holes
0.50” lag 0.2817 0.50"
12.7 - 7.1 12.7
< > < 353 > —p

o

Enclosure Outline \b

Operator Interface Cutout
6.5”
165 | 5.19”
Ly Center 132
2.60”
7.4” |66
188
8
c 11717
$ 3 @) 28.1
|

O.45”I B
11.4

135

T e

270

A

14.9”
378.5

Dimensions in inches and millimeters

30mm pan head screw (4)

Enclosure

(part of enclosure) \

G| 1y

Bushing (4)

Front of
Operator Interface

Figure 1 Measurements for enclosure

Flat washer (2)
Star washer (2

Hex bolt (2)

/

Panel

=<
=<

—

Panel mount|
bracket (2)

Flat washer (4)

F

| 4
/ ly / Hex nut (4)

Star washer (4)

Rear of Operator Interface

igure 2 Mounting

51-52-33-111

Page 30f 4



Kit Instruction, continued

Warranty/Remedy

Honeywell warrants goods of its manufacture as being free of defective materials and faulty workmanship.
Contact your local sales office for warranty information. If warranted goods are returned to Honeywell during
the period of coverage, Honeywell will repair or replace without charge those items it finds defective. The
foregoing is Buyer's sole remedy and isin lieu of all other warranties, expressed or implied, including
those of merchantability and fitnessfor a particular purpose. Specifications may change without notice.
The information we supply is believed to be accurate and reliable as of this printing. However, we assume no
responsibility for its use.

While we provide application assistance personally, through our literature and the Honeywell web site, it isup
to the customer to determine the suitability of the product in the application.

Honeywell

Sensing and Control
Honeywell

11 West Spring Street
Freeport, IL 61032

51-52-33-111 0600 Printed in USA www.honeywell.com/sensing



